Dividing Fractions by Decimals

Name: Score:

Calculate and round your answers off to the nearest hundredth

T+ 15 = = 5 06 =

T ¢ 2= 2>+ 12 =

= ¢ 14 = > ¢ 28 = T+ 13 =
£+ 08 = >+ 02 = 2+ 02 =
s = T+ 15 = =+ 06 =
= ¢ 04 = =+ 17 = 5+ 02 =
%—06= %—14: %‘12:
Z 5 01 = S+ 18 = Tt 05 =
% + 03 = % + 19 = % ~ 02 =
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Answers

Calculate and round your answers off to the nearest hundredth

+ 1.5

+ 2.1

+~ 14

+ 0.8

+ 1.1

+~ 04

+~ 0.6

+ 0.1

+ 03

0.33

0.1

0.5

0.61

0.63

1.04

2.86
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+ 19
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0.28

0.63

0.18

2.78

0.17

0.39

0.61

0.49

0.35
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1.3

0.2

0.6

0.2

1.2

0.5

0.2

0.38

3.75

0.42

1.67

0.73

1.2

0.83



